21/Jul/2024

Beam 07

haaingt dea 2

normal (fost) 151 RF

4000 -

N <3
g 8
N

Slant Range [km]

1000

4000 -

N W
g 8
N

Slant Range [km]

1000

08:00

12:00

00:00 04:00 16:00 20:00 00:00
Time UT
Dome C East (fitacf3) Beam 07 21/Jul/2024
1 (RPEPPT YN TRV YIS WP B Y W TP 10°5

PRRCTPTRT TP

Slant Range [km]

12:00 16:00 20:00 00:00

Time UT

Velocity [m s™']

Velocity [m s™']

Slant Range [km]

Slant Range [km]

D]

CPID

0.6
@

Gate
N N ERE RS R

Gat:
I N N R A

South Pole

m 07

21/Jul/2024

10573

T

Station (fitacf3) Bea
e N | W

e

A F 105

100 3

_E 100 NSeoreh

1873

4000 -

N <3
g 8
N

1000

1 o

Ly

N

4000 -

N W
g 8
N

1000 5,

Kerguelen (no data)

12:00

Time UT

Beam 07

o -0~

o -

0.8

0.6

0.4

0.2

0.0

1.0

0.8

0.4

0.2

0.0

o
o

0.4

0.6

Time UT

o

0.8 1.

Nove

Velocity [m s™']

N.Search

26
22
183
155
1

(98]

Pow



TIGER (no data) Beamn 07 SANAE (no data) Beamn 07

1 1 1 1
nso o | [ o mseoen nsy g | [ o nseoren
Fre 1 1 Fre 1 1
w5 [o move i) o] [0 rove
CPID CPID
1.0 N 1.07] -
0.8 = % 0.8 = %
] EoFez_ ] EoFez_
o 0677 i o 0677 i
8 3 EOfce 8 3 E Ot
0.4 — n ne 0.4 — n me
] B : B
027 - B 0.2 - B
0.0 r 0.0 r
1.0 n 1.0 n
0.8 o S 0.8 o S
] r M2s0 — ] r M2s0 —
] C ' ] C '
o 067 E ' e o 067 ' e
& 3 ET° > & 3 ET° >
0.4 CoH-125% 047 Eop1ss
] [ H-2502 ] [ H-2502
0.2 C H-375 0.2 E §-375
0.0] F 0.0 o
0.0 0.2 0.4 0.6 08 1.0 0.0 0.2 0.4 0.6 0.8 1.0
Time UT Time UT
Unwin (no data) Beam 05 Halley (no data) Beam 07
1 1 1 1
nsy o | [ o mseoen nsy g | [ o nseoren
Fre 1 1 Fre 1 1
Wi o [o mee i o] [o o
CPID CPID
1.0 N 1.07] -
0.8 = % 0.8 = %
] EoFe2_ ] EoFe2_
o 06 = es o 06 E 183
8 3 EOfce 8 3 E Ot
0.4 — n ne 0.4 — n me
] B : B
027 - B 0.2 - B
0.0 r 0.0 r
1.0 n 1.0 n
0.8 o S 0.8 o S
] r M2s0 — ] r M2s0 —
] C ' ] C '
o 067 E ' e o 067 ' e
& 3 ET° > & 3 ET° >
0.4 CoH-125% 047 Eop1ss
] [ H-2502 ] [ H-2502
0.2 o - 0.2 o -
0.0] F 0.0 o
0.0 0.2 0.4 0.6 08 1.0 0.0 0.2 0.4 0.6 0.8 1.0
Time UT Time UT
Buckland Park (fitacf3) Beam 11 20/Jul/2024 - 21/Jul/2024
N.Sky :g:g :g:g N-Search
Freq, 18 60
["ﬁg] 8 3 E o Nove
4000 - = ™
T 2%
5 3000 0E
£ 2000 ol |
.g 125
E 8
? 1000 - 3
4000 - S
T 100 —
5 T
< 3000 - = Hso "
‘gﬁ 15 &
& 2000 - = [-1® ‘;;‘
= -50 8
» -100%
1000 - = H 00
00:00 04:00 08:00 12:00 16:00 20:00 00:00

Time UT



